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All Candidates' performance across questions

Question Title N Mean SD Max Mark FF Attempt %
1 12827 5.8 1.7 7 83.5 99.5
2 12888 5.9 1.6 8 74.3 100
3 12537 4 2.6 7 57.8 97.2
4 12752 5.4 2.3 8 67.9 98.9
5 12576 6.3 3.2 9 70.5 97.5
6 12859 3.7 1.5 6 62.3 99.7
7 11423 2.4 1.9 4 60 88.6
8 12305 1.7 1.4 4 42.4 95.4
9 12550 0.5 0.5 1 54.7 97.3
10 12328 1.3 1.9 5 26.3 95.6
11 12778 3.7 2.2 6 61.1 99.1
12 11221 1.6 2.4 9 18.1 87
13 11644 1.8 1.1 3 58.4 90.3
14 11548 2.4 2.7 8 29.7 89.5
15 10457 1.4 2.2 6 23.3 81.1
16 9788 14 1.3 4 35.9 75.9
17 10541 0.8 14 5 17 81.7
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1(a) 6x + 4x = 43 - 13
10x=30  or x=30/10

Bl
B1
B1

FT until 2" error

Must be simplified

Accept an embedded answer for B3











(@ 6x+13=43-4x. [3]
1O0%. s B




Sticky Note

An error in subtracting 13 from 43, leading to 33.
Otherwise correct.
B1, B0, B1 is awarded as the one error can clearly be seen in working.










(@ 6x+13=43-4x.
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Sticky Note

An error in subtracting 13 from 43, leading to 20.
Otherwise correct, B1, B0, B1 is awarded.










@ Gx+13=43-4x.
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Sticky Note

Instead of subtracting 13 from 43, this candidate has added.
This is the only error, so B0, B1, B1 is awarded.










1. Solve the following equations.
(@ 6x+13=43-4x. [3]





































1(c) 30 —x=44+2 or 60 —2x =44
30—x=22 or -2x=44-60 or60 -44=2x or —x=-8
x=8

B1
Bl

FT until 2™ error

FT equivalent level of difficulty

Accept an embedded answer for B3

Note:

Writing 2x = -16 or -2x = 16 leading to x = -8 is generally
Jrom 1 error.

Sight of 2x = 44— 60 is regarded as 1 error

60— x = 44 leading to x = 16 is awarded B0, B1, B0 (as
level of difficulty is eased)














Sticky Note

A correct solution from initially multiplying out the left hand side bracket. B3 is awarded.













Sticky Note

By dividing both sides by 2, the clear common factor, this candidate has eased the work involved.
An efficient method.
B3 is awarded.
















(€ 2030-x)=44.
[3]











(b)  How many of the 30000 flights with Best2Fly were late?
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(b) How many of the 30000 flights with Best2Fly were late?
@100 -88 =287 wexe \ake...
30000, x oaaés()o?nghts o

















2(b) 30000 —0.88x30000 OR 0.12x30000
3600 (flights late)

M1
Al

Accept (1 —0.88) = 30000

If the incorrect aivline is selected, award SC1 for either
Freeflight or 015 < 30000 = 4500 (flights late), or
Godet  or 0.08x 30000 = 2400 (flights late)
Do not accept these as unlabelled unsupported answers;
need sight of workings or the airline name as sufficient
identification











(b)  How many of the 30000 flights with Best2Fly were late?

00— &8% = 1% o Mw
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Sticky Note

A correct response.










(b) How many of the 30000 flights with Best2Fly were late?
@100 -88 =287 wexe \ake...
30000, x oaaés()o?nghts o




Sticky Note

Unfortunately 100 - 88 is incorrectly calculated.
Leading to a calculation of 22% of the flights, instead of 12% of the flights.
As the full method can be seen, 100 - 88 written then as a percentage and multiplied by 30 000, M1 can be awarded.
















(b) How many of the 30000 flights with Best2Fly were late? [2]











trave! this distance.
Give your answers correct (o the nearest hour.
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Give your answers correct [0 the nearest hour.
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Sticky Note

All correct greatest and least values are given.




Sticky Note

The appropriate values are used in the calculations.




Sticky Note

The candidate has not given their answer  correct to the nearest hour as required.
4 of the 5 marks available are awarded.











trave! this distance.
Give your answers corract to the nearest hour.
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trave! this distance.
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Sticky Note

The correct greatest and least values are shown.
However, the candidate does not realise that for 
the greatest answer to a division you need to divide the greatest distance by the least miles per hour.  Also for the least least answer, divide the least distance by the greatest miles per hour.  Only the first B1 is awarded.










(b) The radius of the circle is 8cm.
Calculate the perimeter of the quadrilateral TAOB. [4]
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(b) The radius of the circle is 8cm.
Calculate the perimeter of the quadrilateral TAOB. [4]




Sticky Note

A correct response.










(b) The radius of the circle is 8cm.
Calculate the perimeter of the quadrilateral TAOB. 4]
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(b) The radius of the circle is 8cm.
Calculate the perimeter of the quadrilateral TAOB. 4]
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Sticky Note

The question asks for the perimeter of a quadrilateral.
This candidate is incorrectly decides to work with area of a circle and circumference of a circle.
Not understanding the question, incorrectly thinking this must have something to do with a circle.










(b)  The radius of the circle is 8cm.
Calculate the perimeter of the quadrilateral TAOB. [4]
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(b)  The radius of the circle is 8cm.
Calculate the perimeter of the quadrilateral TAOB. [4]
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Sticky Note

A correct response, ensuring no accuracy is lost through premature approximation.










(c) FreeFlight and GoJet both expect to carry 500000 next month.
How manymomsultcaseswould you expect GoJet to lose than FreeFlight next month?
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(c) FreeFlight and GoJet both expect to carry 500000 next month.
How manymomsultcaseswould you expect GoJet to lose than FreeFlight next month?
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Sticky Note

A correct response.










(c) FreeFlight and GoJet both expect to carry 500000 passengers next month.
How many more suitcases would you expect GoJet to lose than FreeFlight next month?
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(c) FreeFlight and GoJet both expect to carry 500000 passengers next month.
How many more suitcases would you expect GoJet to lose than FreeFlight next month?
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Sticky Note

In reading the table, this candidate has not used the information given per 1000 passengers correctly, showing consistent place value errors.
B1, M1, A0 is awarded.























Sticky Note

A correct response from using a ratio method to find a scale factor of 1.25.










Calculate x and y. 4
2RSS himes, SOOI











Calculate x and y.
2RSS himes, SOOI

(4]




Sticky Note

The scale factor, 1.25 has been found correctly from division, leading to a correct response.  
All 4 marks are awarded.
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Calculate x and y. 4]




Sticky Note

The ratio 1 : 0.8 has been found, which has been applied correctly.
Operations of multiplication and division have been clear from the stages of working shown.
All 4 marks are awarded.










9. Express 13 million in standard form.
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9. Express 13 million in standard form.
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Sticky Note

The candidate understands 13 million, but has not written their answer in standard form correctly.  
No mark is awarded.










9. Express 13 million in standard form,











9. Express 13 million in standard form,




Sticky Note

This candidate does not know how to write out 13 million using the correct digits.
0 mark is awarded.










9. Express 13 million in standard form.

[Bmllicn

-
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|3 000 000
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9. Express 13 million in standard form. Bmillicn = 13000 000 (1]




Sticky Note

A correct response.
1 mark is awarded.










10.
Sight of 31450, 31550, 45.5 and 46.5

Least 31450/46.5

(Least number of hours is) 676 ISW

Greatest 31550/45.5

{Greatest number of hours is) 693 ISW

Bl

M1

Al

M1

Al

Accept 46.49 or 31549.9
Do not accept 46.49 or 31549.9

Must be clearly their least
FT 31400 < numerator < 31500
FT 46 < denominator <47

CAO from correct calculation.
Must be whole number of hours

Must be clearly their greatest
FT 31500 < numerator < 31600
FT 45 < denominator < 46

CAOQ from correct calculation
Must be whole number of hours

Ifboth A0 due to not to the nearest hour, then also allow
SClfor 676.344 ... and 693.406... rounded or truncated







10. Jake’s car has travelled a total of 31500 miles, correct to the nearest 100 miles.

For each hour that the car travelled, he estimates that it travelled 46 miles, correct to the nearest
mile.

Calculate the least number and greatest number of hours that Jake’s car could have taken to
travel this distance.
Give your answers correct to the nearest hour. [5]











12(b) AT (or BT)
or AT (or BT)
or AT (or BT)
or AT (or BT)
or AT (or BT)

8/tan (74°12)

8 x tan 53°

8 x tan (90°-74°/2)

8 x sin53°/sin37°

8 x sin(90°-74°/2)/sin37°

10.6(16358.... cm)

Perimeter of TAOB is 37.2(327....cm)

M2

Al

Al

MZ1for tan (74°/2) = 8/AT OR tan (74°/2) = 8/BT
or AT(orBT)=8
sin53°  sin37°
or tan 53° = AT(or BT)/8 OR tan (90°-74°/2) = AT(or BT)/8

Alternative:

OT/sin90° = 8/sin(74°/2) followed by AT? or BT? = OT? - 82
M2

(M1 for 1 rearrangement error in either sine rule or

Pythagoras’ Theorem)

Do not accept other answers from premature approximation,
their response must be such that it would round to 10.6 (cm)

FT 2x‘their 10.6” + 16 evaluated correctly provided at least
M1 awarded











12 (b) The radius of the circle is 8cm.
Calculate the perimeter of the quadrilateral TAOB. [4]











2(c) Use of 0.36 and 0.42 (per 1000 compared)

500x(0.42 — 0.36) OR 500x0.06 OR
500 = 0.42 — 500 = 0.36 or equivalent

30 (suitcases)

Bl

M1

Al

Use of (0.)36 and (0.)42 in any calculation(s), or sight of
0.06

Ignore consistent place value errors for “500 thousand
passengers’, e.g. 21(00) — 18(00)

CAO. ISW

If no marks and no working allow SC1 for an answer of 3 or
300 or 3000 or 30000

Goldet and FreeFlight are mentioned twice in the question,
hence no MR or SC marks awarded for use of the incorrect
airlines

2(d) 8(%)

Bl

Do not accept 8/100 or 0.08.
ISW conversion to fractions or decimals.
The answer must be a percentage







{c) FreeFlight and GoJet both expect to carry 500000 passengers next month.
How many more suitcases would you expect Goldet to lose than FreeFlight next month?







7. 3.5/4.2 = x/3.36 or equivalent correct statement
x =2.8 (cm)

y/4.2 = 3.04/3.36 or equivalent correct statement
y =3.8(cm)

M1
Al
M1
Al

"OR appropriate use of scale factor (x)0.8 (or (+)1.25)

Do not accept errors from premature approximation
OR appropriate use of scale factor (+)0.8 (or (x)1.25)
Do not accept errors from premature approximation
Accept unlabelled answers if given unambiguously










7. The diagram shows two similar shapes.

3-5cm xcm
3-:04 cm
ycm
3-36 cm
4-2 cm

Diagrams not drawn to scale

Calculate x and y. [4]
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1.3 %107

Bl

CAO







9.

Express 13 million in standard form. 1]












